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Name Understanding
5-7
_. @Vocabulary —
1. The quotient is the answer to a division problem.
8
60)300
=300 g
L 0 In this division problem, ~—2 isthe quotient.

2. Estimate 363 =+ 56.
363 = 56 s about

240 ~ 0 = 6

The first digit of the quotient is in the _ Mcj place.

3. Find 363 + 56.
Try 6.
6 <—Write 6 in the ones place. g_é

56)3%03 >
~ 2% < Multiply 56 X6. o
777 <— Subtract.

4., Compare the remainder to 56.
Since 27 < 56, write the remainder in the quotient. .f/

363-56= b R 27 " 7

ﬁwﬂ 2407 60 =
5. Cheggyouranswer. /
5 o 56 /(8

7 <— Add the remainder. o —

3 £

: 2
On the Back! d"c 5 é
6. Estimate and then find the quotient of 242 =+ 56. Use your estimate X _
to check for reasonableness. 7 ?7’
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Name

- Daily Common
Core Review

1. Which number is less than
0.7257?

A 0.726

2. Alibrarian has 883 books to
shelve. Each shelf holds
98 books. How many books will
be left after filling as many
shelves as possible?

A 1
C 89 ;ff},
D 97 /

3. The table shows the number of
square feet painted by
three house painters.

Square Feet | Days
Painter Painted Worked
Martin 719 2
Juan 825 3
Christy 836 3

If Christy painted the same

number of square-feet each day
she worke @- many
square feet didshe paint per

day?

5-7

4. A store gets a delivery of

347 boxes. The manager puts %WT
72 boxes in each of the store’s )
warehouses and 59 boxes in the -/57
store’s basement. How many

warehouses does the store Z gf
have?
27
Lf’q e LIW5€5 49’/ z 5
— 1€
Tute
(7

. Find each product.

3x10'= ZO
3%90°= Zp O

3x10°= _32p00
3x10°=_Zoowo

. Elena completed this division
problem:

Explain the mistake Elena mefdk,/
and find the correct quotient 35

,//5 l/uW mj s W 42 \/Lomt(reis
Cdlﬁ’e&ﬁg ’[q‘ shonld loc

af st eat or &

A 260 square feet 29Y #0
) 3 )‘3 B
B 270 square feet K
7/+D

80 square feet 500

D 290 square feet
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